
Opérations avec deux fractions mixtes (F)

Nom: Date: Note:

Calculez chaque résultat.

1. 512 ÷ 513 =

2. 512 − 514 =

3. 523 − 5 118 =

4. 537 − 2 314 =

5. 514 ÷ 135 =

6. 514 × 125 =

7. 247 ÷ 512 =

8. 1 310 × 523 =

9. 514 + 212 =

10. 529 × 147 =
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Opérations avec deux fractions mixtes (F) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1. 512 ÷ 513 = 11
2 ÷ 16

3 = 11
2 × 3

16 = 33
32 = 1 132

2. 512 − 514 = 11
2 − 21

4 = 22
4 − 21

4 = 1
4

3. 523 − 5 118 = 17
3 − 91

18 = 102
18 − 91

18 = 11
18

4. 537 − 2 314 = 38
7 − 31

14 = 76
14 −

31
14 = 45

14 = 3 314

5. 514 ÷ 135 = 21
4 ÷ 8

5 = 21
4 × 5

8 = 105
32 = 3 932

6. 514 × 125 = 21
4 × 7

5 = 147
20 = 7 720

7. 247 ÷ 512 = 18
7 ÷ 11

2 = 18
7 × 2

11 = 36
77

8. 1 310 × 523 = 13
10 ×

17
3 = 221

30 = 71130

9. 514 + 212 = 21
4 + 5

2 = 21
4 + 10

4 = 31
4 = 734

10. 529 × 147 = 47
9 × 11

7 = 517
63 = 81363
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